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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-A
Question numbers 1 to 10 carry 1 mark each .

If sin 2 6 =cos(0 — 6°) where 29 and (6 —6°) are both acute angles then the vlaue of 6 is :
(A) 16° (B) 32° (C) 48° (D) 45°

2sech .
P
1+tan-0

Given that cos ¢ :% the value of

a) 1 ®) 2 © = (D) 0

In figure 1, AD=3cm, BD=4cm and CB=12 cm them tan 6 equals :

A

p 90?
C B
figure 1

3
(A 4

In figure 2, if DE||BC then x equals to :

A
3 cm

D E
2 cm

4 cm

B+—x—>C

Figure 2

(A) 3cm
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In figure 3, the graph of a polynomial p(x) is shown. The number of zeroes of p(x) is :

D

figure 3
(A) 3 (B) 4 < 1 (D) 2

According to Euclid’s division algorithms HCF of any two positive integers a and b with
a > b is obtained by applying Euclid’s division lemma to a and b to find q and r such that
a=bq +r where r must satisfy.

(A) 1<r<b (B) 0<r<b (C©) 0=r<b (D) 0<r=<b

The decimal expansion of 120 will terminate after how many places of decimal ?

(A) 1 B) 2 (<) 3 (D) willnot terminate

The pair of linear equations x —2y=0 and 3x +4y=20 have :
(A) One solution (B) Two solutions

(C) Many solutions (D) No solution

13
If sec A =cosec B:E then A +B isequalto:

(A) Zero (B) >90° (C) 90° (D) < 90°

For a given data with 40 observations the less than ogive and the more than ogive
interest at (20.5,15). The median of the data is :

(A) 5.5 (B) 20.5 (©) (D) 40
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SECTION -B

Question numbers 11 to 18 carry 2 marks each .

Is 3x5Xx7x11x13 a composite number ? Give reason for your answer.

Can (x+3 ) be the remainder on the division of a polynomial p(x) by (2x—5) ? Justify
your answer.

In figure 4 ABCD is a rectangle. Find the values of x and y.

x+y

20
figure 4

If tan (A+B)=./3, tan (A—B) =1, where A >B and A, B are acute angles. Find the
values of A and B.

Find the mode of the following distribution of marks obtained by 60 students.

Marks Obtained 10-20 20-30 | 30-40 | 40-50

No. of Students 5 12 22 15

The following distribution gives the production of wheat in 100 farms of a village per hectare :

Production (kg/ha)| 50-55 | 55-60 | 60-65 | 65-70 | 70-75

No. of Farms 10 12 24 38 16

Write the above distribution as less than type cumulative frequency distribution.
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EF EC

17. In figure 5, DE||AC and DF || AE. Prove that BE = BE

A

F E
Figure 5

In a right angled triangle if hypotenuse is 20 cm and the ratio of other two sides is 4:3, find
the sides.

OR

In an isosceles triangle ABC if AB=AC=13 cm and the altitude from A on BC is 5 cm. Find
BC.

SECTION-C

Question numbers 19 to 28 carry 3 marks each.
Show that any positive odd integer is of the form 64+ 1 or 6 +3 where g is a positive integer.

Prove that (5-./3) is an irrational number.

The age of a father is equal to sum of the ages of his 6 children. After 15 years, twice the
age of the father will be the sum of ages of his children. Find the age of the father.

OR

The auto fare for the first kilometer is fixed and is different from the rate per km for the
remaining distance. A man pays Rs.57 for the distance of 16 km and Rs. 92 for a
distace of 26 km. Find the auto fare for the first kilometer and for each successive
kilometer.

If A is an acute angle of a right angled triangle, prove that

Ll,nA=secA+tanA
1-sinA

If «, are the zeroes of the polynomial x2—2x—8 then form a quadratic polynomial
whose zeroes are 3a and 38 .
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Find the median of the following data.

Classes

100-150

150-200

200-250

250-300

300-350

Frequency

22

18

25

20

15

1
If secd = x +E

Find mean of the following frequency distribution using step deviation method.

then prove that sec 6 +tan 6 =2x or

2x

Classes

0-10

10-20

20-30

30-40

40-50

10

15

8

10

Frequency 7

OR

The mean of the following frequency distribution is 54. Find the value of p :

Classes 20-40 | 40-60 60-80 | 80-100

13

Frequency p 10 9

In figure 6, OA.OB=0C.OD. Show that £LA=ZC and £B= £D.

C

Figure 6

The diagonals of a trapezium ABCD, in which ABHDC, intersect at O. If AB=2CD, then
find the ratio of areas of triangles AOB and COD.

OR

In a triangle ABC, the mid points of sides AB, BC and CA are D,E and F respectively. Find
the ratio of areas of triangles DEF and AABC.
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SECTION-D

Question numbers 29 to 34 carry 4 marks each :

Solve graphically the pair of linear equations :
3x+y—-3=0 ; 2x—y+8=0

Write the co-ordinates of the vertices of the triangle formed by two lines with x - axis.

Find all the zeroes of the polynomial 2x*—10 x3+5x? +15x—12, if it is given that two

s s 3 and -2
OI 11S Zeros are 2 an >

If sin® + cos® = p and secO + cosecO = q then prove that q( p2 - 1)=2p

Prove that : cos49 — cos29 = sin4 - sin29

OR

Prove that : cosec2(90 -0)- tanZ0 = cosz(90 -0)+ cos20

The following distribution gives the daily income of 50 workers of a factory.

Daily income (in rupees) | 100-120 | 120-140 | 140-160 | 160-180 | 180-200

Number of Workers 12 14 8 6 10

Change the above distribution to more than type distribution and draw its ogive.

Prove that if a line is drawn parallel to one side of a triangle to intersect the other sides in
distinct points, the other two sides are divided in the same ratio.

OR

Prove that in a triangle if the square of one side is equal to the sum of the squares of the other
two sides then the angles opposite to the first side is a right angle.

-00o0-
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Y99 WEAT 1 ¥ 10 9% Uk Y97 ARl T

Ifq sin 26 = cos(6 — 6°) T, TRT 26 3T (6 — 6°) =T I & <1 6 T A BT
(A) 16° (B) 32° (C) 48° (D)

It cos e=l?ﬁ Zsecﬂz T |E B :
2 1+tan“06

(D) 0

) 1 ® > © 5

pfa-19, AD=3 9.9}, BD=4 9.49. 3R CB=12 @.H. & o tan 6 1 AF |

A

o 90°
C

THf-1

3
(A) 4

afd-2 #, af€ DE||BC @ x %1 91 € :
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SATHTA-3 § FgUS p(x) T U ST &1 p(x) F IIh] Bl G T :

Yy
A

D

~

\

Thfa-3

(A) 3 © 1 (D) 2

Iforere faaTe Telfied % TIHR <1 1T Ui a 3R b w1 HCF 10 & & o, S&la>b,
a 3R b & fau gfwre fawrsm yAfas &1 7o FX 81 39 YR g 3R r 10 & € &
a=bq+r7¥|ﬁr—€|‘ﬂ:

(A) 1<r<b (B) 0<r<b (C©) 0=r<b (D) 0<r=<b

131

Top 1 SR THI T % Tohda Tl % I9UT 9id B

(A) 1 (B) 2 © 3

WWWT’HX—Zy=03ﬁ'{3x+4y=ZOEFT:
(A) Teh & Bl (B) TBATI
(C) % & Bl | (D) IS g TRI eF |

'é:|'ﬁ;’secA=cosecB=%aTs[A+BEh‘[tlﬂ%:

(A) A (B) > 90° (C) 90° (D) < 90°

Rl fou w40 Deroll & forw ‘0 R 1 dRoT’ SR * e1feres g 1 aRon =1 gfaesg f5ig (20,5, 15)
T UEHE FUET

(A) 5.5 (B) 20.5 (C) 15 (D) 40
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FA3IX5X7x11x13 Th 9T H&71 &7 &R0 ST
T TGS p(x) P (2x—5) ¥ T A W (x +3) T ITH & Tohadl €7 AAITEd S < |

AFfd-4 § ABCD U 3194 &1 x 3R y 1 911 1 Hifoe |
A x+y B

! |

—_
N

|

20 »C

HATHfd-4

IS tan (A +B)= /3, tan (A—B) =1 3R A > BS&T A, B =7 %W & @l A 7R B 1 44 1d SHIfoC |

frefafaa arelt § 60 faenfer g/ o o T9a T €1 9gas A1 Hied |

e 10-20 | 20-30 | 30-40 | 40-50
forenferi =t gen 5 12 22 15

fa oo

fretferfaa gro fadt e % 100 wHEf H g7 90 TR (ha) 7€ HT S 9 € |

3Icared (kg/ha)| 50-55 | 55-60 | 60-65 | 65-70 | 70-75

wH ST FE | 10 12 24 38 16

ST S il Th HH YhN & 93] TIReRAl sied § dea & fafgu |

1040125 - A2




: EF EC
3Tmfa 5 ®, DE || AC 3R DF || AE. ﬁq@aﬁmﬁﬁ:ﬁ.
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1+sinA

—— =sec A+tan A
1—-sinA ’
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H1eAes J1d HiTeTg |

- IATA

100-150

150-200

200-250

250-300

300-350

IRARAT

22

18

25

20

15

2

1
T sec 6 = x +E?ﬁﬁq@$ ST sec 6+ tan 6 =2x 4T

T1-foaem fafy g =1 IReRAT seq &1 71 I it |

- ITATA 0-10 10-20 | 20-30 | 30-40

10 15 8

IR ARAT 7

areran
191 IRaIRaT sed 1 e 54 %1 p 1A A RIS

i

IREARAar| 7 p

0-20 20-40 | 40-60 | 60-80 | 80-100

10 9 13

3 6 H, OA.OB=0C.OD 91T ff L A= £C 3R £B= «£D.

C

A 6

TF gHe ABCD f&H AB||DC ¥, % fasvl weR fiig O R yfd=se &% €1 afg AB=2CD & 1
st AOB 3R COD & & F%al &l ST{Ud Hq I |

HAYAT

T T3s ABC &1 ysTsii AB, BC 3R CA & ®eg fdg ™9 D, E 3R F §1 ADEF 3R AABC &
EHE 1 ST 1A FRITST |
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3x+ y—3=0; 2x—y +8=0
ST @S SR x-3181 & e 5= e & vl & e fafem)

ne 3 3 &
ague 2x*—10x°+5x2+15x—12 F Gt Y=k I FIC; afe 5% < T \g 3R —\/; gl

IfE sin® + cos 6 = p #R sech +cosech = q?ﬁ fag =ifsT q(p2 -1)=2p

TG HINT cos* 8 — cos20 = sin*— sin’0
ATAT

fag =i cosec2(90 —0) — tan? 0 = cos? (90 — 0) + cos? 0

Treferfad sie faet el & 50 gl =1 2 o9 <oriar B

offreR = (FUEi | ) | 100-120 | 120-140 | 140-160 | 160-180 | 180-200

sifrent st WeAT 12 14 8 6 10
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